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GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE
Paper 1
Time Allowed : 1; Hours] ) [Maximum Marks : 100

Note :— The paper contains sixty (60) multiple choice questions. Qut of which, the
candidates are required to attempt 50 questions only. All questions carry

two (2) marks each.

Direction : Choose the appropriate word :

1. Mrs. Singh decided to ........ccccoccviinniiiininiorannea. her husband v?ith kibcl;en knife.
(A) murder (B) stab
(C) kill (D)  poke
2. The smallest fraction among the following is :
(A) 7/6 (B) 5/7
(C) 37 (D) 4/9

T.B.C. : 77/13/ET—D 2
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3. How many triangles does the given figure contain ?

(A) 11 (B) 12
(C) 13 (D) 14
4, Fill the next number in series :

25 0, 8; XX 145 siviiaiii
(A) 17 (B) 18

(C) 16 Dy 19
T.B.C. : 77/13/ET—D 4



3. A\ 9 T snpfa # faed Baw E 2

(A) 11 (B) 12
(C) 13 (D) 14

4, SFEe 2, 5, 8, 11, 14, ..ov.ea ¥ apre d@e 93
(A) 17 (B) 18
(C) 16 D 19

T.B.C. : 7T7/13/ET—D 5 P.T.O.



Directions (Q. Nos. 5 to 8) :

Read the following data and use it for answering the questions that

follow :

Six people A, B, C, D, E and F live in a six-storey building each on one floor,

The following statements describe where they stay :
(1) B lives on floor 6
{2) A is equally far from C and E
(3) F is an engineer
4y D is twc; floor ai:ove F
(5) C does not live next to an engineer.
D, Which of the following is true ?
{A) C lives on floor 4
(B) A is exactly between D and F
(C) E is on floor 5

(D) B is on floor 5

6. If statement 5 is disregarded, which floor does A stay on ? .
(A} b (B) 4
(C) 3 (D) 1

T.B.C. : 7713/ET—D 6



frdyr (w99 %, 5 9 8)
fre=ifefaa siwsi =+ 9fer 3R 37 3/ BRI @ v & I3 e

Z:&F A, B,C, D, ESRF & ofe a9 v87 H, 9® % o9 W @d ¥ |
Ffateas v e zsofa T % 2 =l @3 %

(1) B 23 a6 W & &

(2) A, CHE G 9om gt T &

(3) F u=w sfaa=a §

4) D;F ¥ D oW &

(5) C, Ff9z=n % qgA<RK TE TEW |

5. Fefafas § § 39w @9 & 2
(A) C, T8 4 W @@ ¥
B) ADSRF& 3F o= 7 ¥
(C) E, 79 5 | ¥
(D) B, @& 5 T ¥

6. dfg FgA 5 H T AW WU, G A TF9 @ W wa & ?
(A) 5 - | (B) 4
(C) 3 (D) 1

T.B.C. : 7713/ET—D 7 P.T.O.



7. Which of the following is not true ?

(A) F is not next to D (B} C is between B and D
(C) E lives on floor 2 (D) B is on floor 6
8. If condition 5 is invalid, how many types of arrangement are possible ?
(A) 2 (B) 3
(C) 1 - (D) 5
 ? Parliament ;f India consists of :

(A) Lok Sabha, Rajya Sabha and Presici'eht of India.

(B) Lok Sabha and Prime Minister of India

(C) Lok Sabha and Vice-President

(D) Rajya Sabha, Prime Minister and Other Ministers
10. Who was the felicitated with ‘Nishan-e-Pakistan’ ?

(A) Shatrughan Sinha (B) Maulana Azad

(C) Dilip Kumar (D) Khan Abdul Gaffar Khan

T.B.C. : 77T/13/ET—D 8



7. frafafes 8 4 =9 99 9@ € 7
(A) F, D& zen 4 & (B) C,B3D=® &= %
(C) E, 7@ 2 W &N % (D) B, 7@ 6 W ¥
8, afz fiufa 5 afy &, @ FEod WER 1 wHEEE Wil § 2
(A) 2 (B) 3
(C) 1 (D) 5
. umﬂ'qﬁmﬁma%:.
(A) HrE g4, %] /Y AR YR H Uy«
(B) @ |/ 2T WG w1 §HH HA
(C) == w3 Iyl
(D) 59 |/, WEE TE #R HF "
10. &8 ‘Fem-u-wfwan’ § et B = 2
(A) v fa=m (B) Ham AR

(C) faam™ w/ar (D) EH 3reEs TERR =

T.B.C. : 7713/ET—D 9 P.T.O.



11. Steffi Graf was @ ......c.ccivciivinirninsiameasnns plaver.
{A) Football (B) Vo.lleyb,all
(C) Lawn Tennis (D) None of these
12. What is a glacier ?
(A) A mass of ice and snow
(B) A mass of ice and snow which melts to form a river
(C) A small islan;i of ice
(D) None of the above
13. Jallianwala Bagh massacre took place in the city of :
(A) Amritsar (B) Lahore
(C) Ambala (D) Agra
14. “Jungle Book” is written by :

(A) Rudyard Kipling (B) Albert Speer

(C) Irving Stone (D) Jonathan Swift

T.B.C. : 77/113/ET—D 10



11, R g —— 2 Paerdl @ |
(A) A (B) dfeitam
(©) =i 2 D) T F =
12, fowsg #0078 2
(A) @% R feu =1 favz
(B) @% 3R fem =1 fuvg o fusest =& 7 ®
<C)a¢m@t&érmﬁ'w |
D) 3vdsa # J =@ &
13, SfeaEmen & wawve fHme ot 3 g2 ?
(A) 3R (B) =R
(C) zrame (D) WP
14, wgaszﬁaﬁﬂ?
(A) wEFE famfam (B) @wad e

(C) sfdm == (D) wige feaw

T.B.C. : 7713/ET—D 11 | 15 1 8 6



Direction : Select the meaning of the idiom and phrase in sentences in the

15.

Direction : Choose appropriate word : '

16.

17.

18.

following question :
To let the cat out of the bag :
(A) spoilt the party with a cat
(B) gave her a party himself

(C) told her about it unintentionally

alh o

(D) prevented her from attending it |

The residents were able O ..., to the church fund in a big
way. 5 1
(A) donate (B) give

(C) gift (D) give away

In a class of 50 students M is eighth from top, H is 20th from the bottom. d

How many students are there between M and H?
(A) 23 (B) 22
(C) 24 5 (D) cannot be determined

How many rectangles are there in the figure given below :

(A) 3 (B) 4
(C) 5 (D) 6

T.B.C. : 7713/ET—D 12
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(D) =& I@d Iufegg 2@ 9 T
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16. mﬂgm%ﬂma}m ................................ q%l
(A) TF % i (B) %
(C) v 2 ' (D) WET W

17. 50 faerfddi =7 v wen 8 M e @ oS 2, H WeR § dEa €0 M 3R
H & &g feay faedf & 2

{A) 23 (B) 22

(C) 24 ' (D) Tauifm =& & = g
18. 4 & ensfa # fean smE ¥ 7

(A) 3 - (B) 4
(C) 5 D) 6
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19. Fill the next number in series :
L4 ABSO4L; snaiaasais
(A) 81 (B) 144
(C) 196 (D) 256

20. Find out the odd figure -

wOOC)HC)
» () O Oo

(C)

(12}

T.B.C. : 7713/ET—D 14



19. S@en 1, 4, 16, 64, ...ococnennns o apre dem uig |
(A) 81 (B) 144
(©) 196 . (D) 256

20, faun amsfa = gg=nfae .

« ()OO OO0
- ((©

(D

S’
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Directions (Q. Nos. 21 to 25) :

Read the following passage carefully and answer the questions 21 to 25 by

murking the correct oplion : : .

P PPy SRR PY

The possible effects of climate change on India’s surface and groundwater

resources would impact huge pressure on existing water management

strategics in coming decades. Recent studies have shown that the per capita

-

annual water availability in India bas considerably reduced from 1820 m°

(2001 statistics) to 1703.6 m” (2005 statisticst in a lmited period; and this

value is very close to the water stress threshold walue of 1700 m2. India

is the largest groundxvatnr user in world (230 cubic kilometers per year:
which i& more than qﬁarter of the global total) which covers more than
#5% of drinking water supplies and more than 60% of agriculture water
are depending on the groundwater reservg. As some of the recent studies

have highlighted .t.he fact that nearly 29 percent of groundwater blocks

PTB.C. : TTMET—D 16
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21.

in the country fall under the semi-critical, critical, or overexploited
categories, the Planning Commission of India has constituted an expert
group to identify sustainal;le management strategies for groundwater use
and to provide technical support to enhance outcome of the management
interventions. Apart from this, in recognition of the necessity for accurate
and reliable assessment and robust modeled results of the climate change,
the Ministry of Environmental and Forests (MoEF), Government of
India has launched the Indian Network for Climate Change Assessment
(INCCA). INCCA is considered as a mechanism to enhance networking and
knowledge sharing among researchers, knowledge institutions (brought
together ~250 scientists from around -125 Indian research institutions),
various ministries (MoEF, Ministry of Science and Technology), and other
agencies [Defense Research and Development Organization (DRDO), Indian
Space Research Organization (ISRO)]. INCCA has undertaken various
programmes like assessment of black carbon and its impact on ecosystems,
ecosystem monitoring developing scenarios, impact assessment on various

natural resources, greenhouse gas inventory programme ete,

Chief function of INCCA programme is :

({A) To control the effects of climate change in India

(B) Keep a check on groundwater usage

(C} Enhanced networking and knowledge sharing among researchers

(D) Keep a check on groundwater quality

T.B.C. : TT13/ET—D 18



21.

guit & stwria s ¥, uNa F den smEm 3 dm osw wEm ® 3wEm &
WO WaEeee Hifadl #1 WEEEA & fAg U9 Weesd Hemdal @ Uiond s "@gne
2 A wEEa e w0 & fou uw faviem wge @ e e ¥ e
FemEl TEl AR favawdg aavEmal 3R weerg uieda F S amevi wRomm
A1 & v yafEy ud a9 weed (MoEF), WRd ¥R A vRAE wear
uftgdd gegiFa 92a® (INCCA) wafda & § | INCCA 1 3aa=aalst, 54
il (eFwT 125 HEEE /250 dwiie uw gW % Wi ' ), fafv=
TAEE (MoEF, fa9= 1F a&ist waed) 3R 37 siusd (e e Ul
fara et (DRDO), WAt siafty STeam Heam (ISRO) # #ra 9 afed
T zas @@ W g T W § | INCCA 3 @gd ¥ @d#y 59 =9
FE W HedArwd SR e uffrufaEt @3 W wwm, ufifefE o= wEes
fawm ufigyn, fafv= wirfos &6 1 duw gogiEq, siage | @9 @oE
g W =e 1 Swenaa fom ¥

INCCA WuH &1 H&g & #1 & ?

(A) wTa ¥ Feag ufadd & guaE @ fFEeEm s

(B) 1\ 9@ 3I9AN W 2@ &

(C) FAGuHEEFAIsl & = FZafEn iR 99 F ARE-WEE F FeE

(D) " S@ Ht OrEE w WA HO
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929 Effect of climate change on the groundwater is !
(A) Tncrease in water availability
(B) Decrease in water availability
(C) Fluctuation of mean" sea level
(D) Degradation of groundwater quality

953 India is the largest user of groundwater resource. The chief use of groundwater

in India falls under :
(A) Agricultural use
(B) Industrial use
(C) Drinking and domestic use
(D) Civil work and construction use
94. Assessment of black carbon and its impact is carried out by :
(A) DRDO (B) INCCA
(C) MoEF (D) ISRO
95. Possible solution of climate change phenomenon is :
(A) Shut down of groundwater usage
(B) Periodic monitoring of groundwater levels and quality -
(C) Initiate research on the reversal of climate change phenomenon

(D) Enhancement of existing groundwater management technology

T.B.C.: 7713/ET—D 20



22. W WE W weErg UREdd % 9EE § e
(A) T IUCRIE W A
(B) /& 39e=H@l &1 WAl
(C) Iz o & 3Ha § Ian-ged
(D) \fmsraquarmwm.

23,  YRE YW = = HEH ¥ I FwE B | WEE J 9 99 w1 qEE 3uEn fEaes
sw=fa B ' ?

(A) HfH Iggm
(B) siefiter 39dm
© ¥ sk R T
(D) = @ s Fmbo s 2eE@m
24. FE FET F OGeAiET AR 3HE 999 s oo e e & 2
(A) DRDO (B) INCCA
(C) MoEF (D) ISRO
25. wiearg wfads oftger = d@wfae fem 7 o
(A) Hm Fid F IW FT HEA
(B) 9m W &1 9@ 3R TUEwW F weda SEe
(C) oy TiEdd 9ideT & IeeAT WOSHEYE WY S
(D) foEmm M S wEST awAaE w5 oA
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Directions (Q. Nos. 26 to 30) :

Read the following passage carefully and answer the questions 26 to 30 by

marking the correct option :

Technology Enabled Learning is an important aspect of education. If we
wish to provide access to education along with quality, the same is possible
with increased use of technology. Technology enabled learning should be
taken to all the imjtitutions across the country and both institutions, faculty
and student‘s must be empowered to harness technology for improving the
quality of education. The infrastructure and content resources created
through National Mission in Education through ICT needb massification.
Setting up of new Inter-University Centers, Meta Universities encouraging
inter-institutional collaborations, strengthening open and distance educa-
tion, are all planned. Similarly, focus on Research and Innovation includes
setting up of cluster innovation centres, design innovation centres, tech-
nology development centres, centres in frontier areas of research, greater
industry academic linkages, inter-disciplinary research in grgnd challenge
areas, strengthening education in intellectual property rights and social

T.B.C. : 77/13/ET—D 22
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26.

217.

T B.C. ;: TT13/ET—D 24

science research. Development of skills in higher education through setting
up of community colleges and polytechnics is another priority. To ensure
equity in higher education, regional and social imbalances will be reduced
through national initiatives for greater inclusion of disadvantaged sections
of SCs. STs, minorities, backward classes, girls and persons with disabilities.
Similarly, Indian languages will be strengthened to ensure a balanced

linguistic growth. National Initiative to foster social responsibility and

community engagement in higher education is also on the agenda.
Fducation through ICT needs :

(A) Massification {B) Modernization

(C) Modification (D) Implementation

Purpose of opening Meta universities is :

(A) To empower faculty and students

(BY To facilitate exchange programmes

(C) To encourage inter-institutional eollaborations

(D) To promote research




faFm o wufasa § |3ﬂm.ﬁrmﬁm§ﬁﬁaﬁ$ﬁ$m%ﬂ'ﬂ
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26. ICT g foan # smavgsa @
(A) wEAfRHT (HEEREHT) (B) snyfaTaTm
(C) ufad (D) =

27. Ha Tavafaarem e #1399 ¢ -
(A) maﬁ.ﬂtﬁmﬁiﬁaﬁaﬂxmh
(B) fafg sl =1 FFit=ad &
(C) SI=R-Weg4HE Fear @ AgE 2
D) FFEYA H WeEEd oA
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28. More inclusion of socially and economically deprived sections of society in

higher education :

(A)

(B)

(C)

(D)

Will enhance the quality of education
Will help in strengthening social science research
Will reduce the problem of unemployment

Will ensure equality in higher education and reduce imbalances

29. For balanced linguistic growth, which of the following measures should be

adopted ? "

(A) Stre.ngthening of Indian languages

(B) Detailed study of linguistics

(C) Inclusion of more foreign languages

(D) Setting up of a single official language

|

30. To increase the quality of education : i

(A) More number of schools should be opened |

(B) There should be increased use of technology

(C) Setting up of new educational policies

(D) Recruitment of large number of faculty

T.B.C. : 77/13/ET—D 26
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(A) fore =7 7o el

(B) wmifas fawm seum & aofyest § meg faenh

(C) FO= =t FwEm =9 B oS

(D) 3= foan # woma giatv=a 8 sl sdges =5 @
29. wHafea W faewm & Ty A=t § ¥ S5 sym = 3 2

(A) wrta sl w1 wviREE

(B) Wl =1 TR aeEEA

(€) 3 afus fadzft wmasl =1 wie s

(D) US USRI USTHIA W i STl
30. Toam =1 AT a@we ® Ao .

(A) 3 zifus de= d el w1 @

(B) THAMRI T Aga g I9EM

(C) =4t fifera Hifgal =1 &

(D) == 50 ¥ wearges g1 # Wl
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Directions (Q. Nos. 31 to 35) :

Read the following passage carefully and answer the questions 31 to 85 by

marking the correct option :

The Right of Children to Free and Compulsory Education Act, 2009, and
the inclusion of Article 21-A in the Constitution of India has far reaching
implications for elementary education and for the implementation of Sarva
Shiksha Abhiyan (SSA), in the years to come. Further, the debate on
education has shifted from access to quality of education for all sub-sectors
and levels of education. Strengthening of the secondary school system in
the country through Rashtriya Madhyamic Shiksha Abhiyan (RMSA) is
a major priority area so as to raise enrolment in secondary education, focus
on science, mathematics and English teaching, reduce the gender, social
and regional gaps in enrolment, dropouts and improve school retention.
In keeping with the goals and achieving literacy targets as also reducing
gender gaps, Saakshar Bharat Scheme would give greater focus on female
literacy as well as synergy between literacy and skill development, Several
initiatives are lined up for increasing capacity of our higher education

system, The bulk of enrolment in higher education takes place in

T.B.C. : 7TT13/ET—D 28
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universities and colleges supported by the state governments. An umbrella
scheme of Rashtriya Uchchatar Shiksha Abhiyan (RUSA) will be launched
to address the needs of State institutions so as to strengthen them and
enhance their quality. RUSA will also address a major challenge on regional
imbalances in higher education. Alongside this scheme, we will strengthen

Undergraduate and Postgraduate education in Colleges.
31. Sarva Shiksha Abhiyan (SSA) gives priority to :
(A) Access to education
(B) Quality of education
(C) Education at primary school
(D) Education at higher levgl
32. Decreasing the gender and social gaps in school education is the aim of :
(A) .Article 21-A
(B) Sarva Shiksha Abhiyan
(C) Rashtriya Madhyamic Shiksha Abhiyan

(D) Rashtriya Uchchatar Shiksha Abhiyan -

T.B.C. : 7T713/ET—D 30



oY HEE S AEYEEAS] ) IO F, I aviEas S S qeE
g @& fou U= seam foar sifvas (RUSA) t%es diem wiadisa sl |
RUSA S==av foisn # &fa sgedl &1 g@&a gaal & ff 390 & | 39
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31. ud fnan sifvas (SSA) feas wmafawar 2@ & 2
(A) ﬁn&naa:qg'a

(B) foiem =1 TvmEsn

-~

" (C) wufaw =@ § foan
D) =W R W e
32. Wﬁmﬁﬁn@tmﬁﬁmﬁmmm%?
(A) =2 21-A
(B) w4 foan sfuam
(C) =g wratas fan sty
D) TEE Iea faen sifvam
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33. Emphasis on literacy and skill development linkage is the aim of :
(A) Saakshar Bharat Scheme
(B) Rashtriva Uchchatar Shilssha Abhiyan
(C) Rashtriva Madhyamic Shiksha Abhiyan
(D) Sarva Shiksha Abhiyan
34. Strengthening of state institutions for education shall be the task of :
(A) Saakshar Bl';arat Scheme
(B) Rashtriva Uchchatar Shiksha Abhiyan
(C) Article 21-A of the Constitution
(D) Sarva Shiksha Abhiyan

35. The Right of Children Education, 2009 and inclusion of Article 21-A in the

Constitution of India are primarily taking care of :
(A) Technical education (B) Postgraduate education

(C) Elementary education (D) Male literacy

T.B.C. : 771 3/ET—D 32



33,  waRa @R Fw faww ® a8 SR 2 feww wem ¥ 2
(A) W& ¥RA Fre
(B) Usra F=aa foian fvEE
(C) it meafas foan sfvam
(D) wa fan sfyaE
34, fuan & fou o9 doEl =1 wufEEsw fFas @ @m 2

(A) HI&T YWRE I

(B) Usd T=aax foan afvam
(C) Hfaur 1 3= 21-A
(D) .Flé foren 3rfyyars

35. are feren sfUsR, 2009 3T 3=Ee 21-A & uRdE F@fagE § wmiva 8, 3 wigfas

Y H faasl 2@da @ & 7
(A) ==t foren (B) wus=as foan

(C) wafas faan (D) YFH Hiaral
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36, A swimming pool looks shallower than it really is, when seen by a person

standing outside and near it, because of the phenomenon of ........c.cocomvveiiiiiini,

of light.
(A) Refraction (B) Reflection
(C) Dispersion (D) None of these

37. Brass statues mainly contain :
(A) Tron (B) Copper and aluminium
(C) Copper and .nickel. (D) Copper and zinc
38. LPG contains :
(A) Methane (B) Ethane
(C) Butane (D) None of these

39.  Imagine you are blind-folded and then given a lens. You move your fingers
on the surface of lens and find that it is thicker in the middle and tapering

at the edges. What kind of lens is this ?
(A) Concave lens (B) Convex lens

(C) Convexo-concave lens (D) None of these
1
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36. waﬁamqmm%uﬁhméwwwm%ﬁtmm

arcfawar & e Sge feme EW ¥ | W Wi g & e

F=AU B w |
(A) Frgads ",'/(.B) TEdA
(C) Tadmo (D) T30 | g A

37, iaw = gfdd # yema: @@ ¥ o

(A) oE : (B) w1 3 TgatEs
. o~ . (©) @ SR FReE | (D) wien iR 5
e
;33 LPG # & &1 & 2

(A) wIeE (B) TaH

«ma;?w (D) T8 § FE 4

39. WA witwy s wE TE d| W € el s A e s ¥ g st
sl A F maE W gEEL U9 ¢ oaw we A A ¥ efR e 9T v
e oS ¥ | g% R wew # oo ¥ 7

(A) Fda &= (B) 3¢ o9
(C) I9d-79aa o9 (D) T8 | =13 ~TE
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40.

41.

42,

43.

Smog is a consequence of :

(A) Rapid build up of CO;5 in the atmosphere

(B) Presence of high humidit).r in the atmosphere

(C) Depletion of ozone layer

(D) Build up of photochemical oxidants, pollutants and thermal inversion

An ingredient of antacid tablets for treating “stomach acidity” is :

-~

(C) CaCOgq (D) Lemon juice

- The largest. component of the atmosphere is :

(A) Carbon dioxide (B) Oxygen
(C) Nitrogen (D) Hydrogen
The main sugar present in mammalian milk is :
(A) Sucrose (B) Glucose

(C) Lactose (D) Fructose

T.B.C. ; TT13/ET—D a6



40. yu-FeEn FE FEW F@m T ?
(A) @gRvE® H CO, & ot 9 =7 |
(B) wgEvew # sfew o F ufefs 3
(C) A ga & fages |
(D) wHE-TEEtTE SEdEnsl, gusl = 991 3R Iwiy faufads |
41, FHIY™ Il F osod & AUy §2t o U §9es € o:
" © {A) NayCOq | | (B) wemffdw s
(C) CaCOy (D) g 1=
42, TEAUEA 1 9F9 92 =99 ®H & 7
(A) FEA SEAEEES (B) HaH=A

(C) =gz (D) =ES=A

43. AU ® g9 § T vmo :EE § 2

(A) THE (B) 7TEEHRIY
(C) =28 (D) W
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44.

45.

46.

Cash crops are the crops which are grown :

(A)

(B)

()

(D)

Alternating with other crops to increase their yield
For their high price to benefit the farmers

To initiate the seed germination of parasitic plants before the main crop

iIs 20wn

To increase the capacity of parasitic seedlings to infect the main crop

Organic farming refers to :

(A)

(B

(C)

(D)

Cultivation of plants for biomass
Cultivation of energy rich crops
Cultivation of crops without synthetic fertilizers and pesticides

Labour intensive farming

Biosphere Reserves differ from National Parks in being :

(A)

(B}

(C)

(D)

Protected areas where people are an integral component of conservation

system

Places near big cities where people can come for recreation but activities

such as farming and fisheries are not allowed
Places where exotic plants are brought and conserved

Large forests areas where human beings are not allowed to enter at

all
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44.

45.

46.

FHEl WHA, 9 BEA § o I A ¥ o

(A) 37 WHC * HY UG s, IAH JeEN agd @ fau

(B) TwumHl & & & fau swat sfas e & fag

(C) T2 wEa & 91§ weal weiat WEl B WS sfEEu o waida w9 ® fen
(D) H=2 FHa F HFHd w0 fog weiE 9y # gqoa 9ge & foo
Sifaw @ f52 weffa &t & 7

(A) aﬁawa‘:ﬁqﬂnﬁﬁ‘@aﬁ

(B) meaﬁ@?ﬂ.

(C) FPm & 3R dgwawm ® &0 wad w1 S

(D) =eigd Hi a9ged H At

SEgvse d@ifld &, g 3w | feed fam 28 § 2

(A)y 3 wifea &= wEl & T WHH H1 Ay sEEa oa g

(B) =3 vl & ®AIY F W Wl | s & fon e wwd € faeg ad w0
i weelt gw=s wr Efa 9@ A

(C) 9 ve Jel fagoe 919 &) S| ¥ 3 3% difam e s &

(D) favmer @9 &= vl 5ra @ yau w5 sgata e Tl 2
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47.  Sal and leuk are dominant tree species in :
(Al Temperate broad leaf forests
B Temperate coniferous forests
((:) Tropical rain forests
(D} Tropical deciduous forests
45. First Educalion Minister of Independent India was :
{A) Khan Abdul Gaffar Kh.an
(B) Maulana Abul I{a.la;n Az.ad
(€} Saiffuddin Kichlu
(1% Bhyama Prasad Mukherjee
9. International Literacy Day is celebrated on 8th September :

(A} To highlight the importance of literacy in life and remind ourselves of

the stulus of literacy and adull learning worldwide

(B} Because it is the birthday of Indian literature legend Rabindranath

Tagore
(G} To emphasize upon the importance of education in all day to day spheres

iD) DBecause it is essential for upgradation of basic lifestyle

T.B.C. : TT1HET—D 40




47. HH iR Grie vE 9w Bd §
(A) vidmn <SSt ot 9 99
(B) viamor vyl 99 &
((;)mﬁaxﬁuaﬂfa?%
(D) JIwiHicH+g Tagg a4 &

48, AR WRA & wEd foam Wt 4

(A) @F EE TERR @

(B)ﬁram:ﬂgﬁa?ar;lm

(C) #HdH foae

(D) vamsT == gEsi

49. ‘m@ammﬁmsmﬁmm%:

(A) =t § W $ Teed & SO HiIA AR FISRA w1 W1 3R fayawr # 9
e =1 3 faem

(B) ifs T8 YRdIE HeF Aied®R Eea S =1 59 faaq &
(C) fedi-feq ==t 4 foen =1 98w W =9 29

(D) it 2E snuRr Fg4-3elt F1 I=aviaa & fau FEvaE 2
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50.  Children’s Day and World Teacher's Day are celebrated on :

(A)
(B)
(C)

()

14th November and 5th September, respectively
14th November and 5th October, respectively
20th November and 5th September, respectively

20th November and 5th October, respectively

51.  The word “University” is derived from a Latin word ‘Universitas’, which

means ,

(A) A number of persons associated into one body, a society, company

(B)

(C)

(D)

community, guild, corporation etec.

An educational institution designed for instruction, examination, or both,
of students in many branches of advanced learning, conferring degrees

in various faculties.
Specialized associations between students and teachers

Institutions of learning, which grant degrees to its students

52. What does an “Institution of National Importance” mean ?

(A)

(B)

(C)

(D)

An institution established or incorporated by a State Legislature Act

A high performing institution, declared so by Central Government under
Section 3 of the UGC Act, 1956

An institution established or incorporated by a Central Act

An institution established by Act of Parliament
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50. = fegg v favg foas feaw w9 w90 5@ £ 2

(A)

(B)

(C)

(D

ShHYI:

HHT;

HHIT:

HHIT:

14 =y 3R 5 fagmm =)
14 Famy 3R 5 FEEE B
20 wEEr 3 5 faa=r =

20 FEmEY I 5 FESEl

51. m‘gﬁaﬁﬁ'aﬂmﬁméﬁaﬁm‘gﬁaﬁm'%gﬁtmwt:

(A) UH FE, 991§, HEAE, gHe, 99, Frm ek d 92 gu =afaed & demn

~ - (B) ewEdl fuar ot Se s § faafdd § sR_eE, witen @ @96, & faw
faa forgm wegrm o fafay dwet § sufy wewm s &

(C) Taofedi sir steams] & &t fafore g

(D) fogm =1 deam s faenfdE = sufy e 5@ &

52. TSEY Wewd i T & s 54 ¥ 2

(A) Ty fgurmmuzs sifufas go wnfre o e g==n

(B) UGC afufyam, 1956 #1 910 3 & 3=0id = &R 3R Hiftd s 3=9
fregre wen '

(C) mm%mmﬁamﬁnﬁawm

(D) s "y sifufas g enfa o S99

T.B.C. : 77/13/ET—D 43 P.T.O.



53.

ot

55.

56.

Who administers oath of office to the Governor of a State ?
{A) Chief Justice of High Court of concerned State

(B) President of India

{C) Advocate-General of concerned State

(D) None of the above

What is “AGMARK™ ?

(A) Name of brand

(B) A marketing. research organisation

(C) Eggs supplied by Government-run Co-operative

(D)} It is a certification mark employed on agricultural products
Who is the highest wicket taker in the test cricket ?

(A) Shane Warne (B} M. Muralitharan
(C) Kapil Dev (D) Anil Kumble
Vasco-de-Gama landed in :

(A)  Kochi (B) Kozhikode

(C) Trivandrum (D) Diu
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53.

54.

5.

56.

T F IS h Y W VWY #H feemwm ¥ 2
(A) 3H T°9 § I=9 IOEE F g5 FEH
(B) WA =1 I=Zyid

(C) 3|/ T™ & Tedhz Iwa °

(D) 39sa # | =1 = |
“AGMARK” @1 &1 319 & 2

(A) TH Y H AH

(B) TS "o 3HEuE §sH

(C) Few Hewia g amgfia swe

(D) 4z FH 9@l W FEfta o g o &

T fwdz § ey afus a9 &3 amn 9 & 2

(A) 9 3+ (B) TH. qLEeE
(C) =fya 23 (D) e =
ATERI-S-TET HEl A0 91 7

(A) === (B) ===

(C) FE=sm (D) &=
T.B.C. ;: 77/13/ET—D 45
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57. The largest lake in India is :
(A) Sambhar (B) Nainital
(C) Chilka (D) Dal
68.  Who was the author of the book “Hind Swaraj” ?
(A) Gopal Krishna Gokhale (B) Lokmanya Tilak
(C) Mahatma Gandhi (D) Jawaharlal Nehru

Direction :  Select the correct meaning of the given idiom/phrase out of the given

four options -
59, Take up the cudgels : .
(A) to support s;mebody (B) to start a new business
(C) to go on a holiday (D) to relax

Direction :  Given below are the jumbled sentences of a paragraph. Arrange the
sentences in the correct sequence :

60. (i) The collector said that the Dam should receive.
(iz) To ensure uninterrupted.
(tit) Water upto a particular level.
(iv) Supply of water for irrigation.
The best sequence is :
(A) (D), (1), (iv), (ii) (B) (&), (&), (i), Giv)

(C) G, (D), (iid), (i) (D) (@), Go), (1), (i)
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57. mﬁmwmmi?
(A) W|IWT (B) WAt
(C) Taem (D) ==
58, ‘f‘a-—c:m'gwa%%mzma ?
(A) Tharer FE TEE ‘ (B) wmar oo
(C)mvﬁ%ﬁ (D) TaEEaE 1w

Frdor - ﬁﬁ@mmwaﬂﬁf@ﬂaaﬂﬁmﬁ%gﬁnl

- 59, TZ W OE o: 3
. : L ol
(A) Fwdt = Twda wen (B) =9 SYUR H WTH
(C) gs’ftum (D) FWH ®:A "

N

Forder : ﬁ%@aﬁ‘%mmﬁatlaﬁﬂiﬁwmﬁmw
60. msimﬁﬁ%ﬂﬁmﬁmaﬁqn
L o

(B) (@), G, (), (v)

(€)  (Gv), @), Gid); i) D) (@), Gv), @), i)
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